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Q0000900 9090009 900909009 90009000000 9000090 9100000000000 009
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class="a0"><span lang="UK">0¢ €000 000006009 6606 N 2266/7/15-1317 &
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lang="UK">N 233 @ 09.03.2011 @).</span><span lang="UK"></span></p> <p
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90000000000000000600" (N 69 ¢ 04.02.2013 @)</span></p> <p class="a2"><span
lang="UK">0¢ 000 0009 9000 90009 90909069 </span></p> <p class="al1"><span
lang="UK"> </span></p> <div style="mso-element: para-border-div; border: none;
border-bottom: double windowtext 2.25pt; padding: Ocm Ocm 1.0pt Ocm;"> <p class="a"><span
lang="UK">0 @ e[ #096@/span></p> </div> <p class="al"><span lang="UK"> </span></p>
<p class="a3"><span lang="UK">0 0009 0000009000 ¢ 900900009 0</span></p> <p
class="a1"><span lang="UK"> </span></p> <p class="al1"><span lang="UK">[ ¢ 0006 00
1 2°2°2°2 "2 2 igelplepR 222 °2 7272722227272 23 (e ]a e PR "R 2727222 °2°2°2 "2 12222 "2 2
Q000909 90090900 990009 900900000009000 900000000000 000000
000009000 900'00900 9909069.</span></p> <p class="a1"><span
lang="UK">0 009000 00009000009 ¢ 9909000 000909 900009 ¢ 90000 060
Q000 99009 V0090000909, 9909:</span></p> <p class="al"><span lang="UK">- &
Q0009 9090<cM>(00VP009 90099 9009 9009000000000 00000000 0009
99900099)</em>;</span></p> <p class="al1"><span lang="UK">- 006 ¢06609
Q9999 ,</span></p> <p class="al1"><span lang="UK">- 0 0000006 606009,
Q000090009000 0900 999</span></p> <p class="al"><span

lang="UK">------------------- </span></p> <p class="a0"><span lang="UK">0 ¢ [ 00000009
990906 N 31-08410-07-16/2073 @ 23.01.2013 @ </span></p> <p class="al1"><span
lang="UK"> </span></p> <div style="mso-element: para-border-div; border: none;
border-bottom: double windowtext 2.25pt; padding: Ocm Ocm 1.0pt Ocm;"> <p class="a"><span
lang="UK">0 00 &_960réi ©9o/span></p> </div> <p class="al1"><span lang="UK">
</span></p> <p class="a3"><span lang="UK">0® 0600 660060 06069
Q0090000090000 909</span></p> <p class="al1"><span lang="UK"> </span></p> <p
class="al1"><span lang="UK">[ 9 900000900, 00000909 90000 000000 00 060009
Q00009000900 9900000000000 0000000000909 <stroNY>000Q 906000
V9/strong> @ 909 <eM>(0 099V V00000990000 9000 9 000 00000201200, 9
D 900909 900909 V00009 9000009 906009)</em>.</span></p> <p
class="al"><span lang="UK">0 00006 90006 0060090 66

900009000000 000000000 90 9000000000, 9000000 9000000060090,
Q00009 900 900090000906101%.</span></p> <p class="al"><span
lang="UK">------------------- </span></p> <p class="a3"><span lang="UK">& &
19000000000 000600000 N 435/10/136-12 @ 12.11.2012 € </span></p> <p
class="a1"><span lang="UK"> </span></p> <div style="mso-element: para-border-div; border:
none; border-bottom: double windowtext 2.25pt; padding: 0cm Ocm 1.0pt Ocm;"> <p
class="a"><span lang="UK">¢&_©@ ®oo</span></p> </div> <p class="al"><em><span
style="color: windowtext; mso-ansi-language: UK;" lang="UK"> </span></em></p> <p
class="a3"><em><span style="color: windowtext; mso-ansi-language: UK;"
lang="UK">0 & &6 & o6 é</span></em><span style="color: windowtext; mso-ansi-language:
UK;" lang="UK"> </span><span lang="UK">0¢® ¢ 9006 €909 €069 </span></p> <p
class="a3"><em><span lang="UK">"¢ 0 & & @96é" (</span></em><em><span lang="UK">N
4, @ 30.01.2013 @)</span></em></p> <p class="al1"><span lang="UK"> </span></p> <p
class="al1"><span lang="UK">9 @@ #000<cm>(0 009 90000000000 000-006009
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1:27222°272.2°2°22 2222222222222 K222 R 222722827222 R 222
V000000 900090000000000)</eMm> 900. V0000000
0090900000090'900000909000, 0 900 9000909900 V000909900 000 9 9000000
Q09 99090000 900909000 V00090900000 900909 909 <sStrONY>0V 000 0009

9 99/strong> @ 9000V 09 @ 900999, @ @ <SIIONY>C VP00 9006 00

99 99/strong>. </span><span lang="UK"></span></p> <p class="al1"><span
lang="UK">0 00 0¢, 000000 0000000009 0009090, 0000 900000 90000 0000
Q00 99000000 (0000 900000000 99. 9 99 9009 </span><span

lang="UK">0 0000000000000 09, ¢ 90000000900 00000006 9000

Q900909 9<sSlrONg>00 Q00 @ 9O V09V 909HV09</strong>. </span><span
lang="UK"></span></p> <p class="al"><span lang="UK"> </span></p> <div
style="mso-element: para-border-div; border: none; border-bottom: double windowtext 2.25pt;
padding: Ocm Ocm 1.0pt Ocm;"> <p class="a"><span lang="UK">0 0000 ¢°060¢
é</span></p> </div> <p class="al1"><span lang="UK"> </span></p> <p class="a3"><span
lang="UK">0 0 & 0000? 000000 9000000 000000009 0000009b6</span></p>
<p class="a1"><span lang="UK"> </span></p> <p class="a1"><strong><span

lang="UK">0 000069660 69/span></strong><span lang="UK"> 006 ¢600606
V0090000009 9 99090 0009, 90000000 90000000000000000 9000
G0000009. 900009000 90900090000000900000 909000009 9 90 0000
0009000000900000 900090000009 990000, 0 V009000 9 V000000 0000009
900000000000000900, 90000 90009 9000000000000 ¢ 90009

9 999</span></p> <p class="al"><span lang="UK">0 0006, ¢00000600006¢
Q000909 0000090(00000000000 90N 4199 15.06.94 ¢), 000 000 000609
V00900000 9009000000 99090000 900090900 9000909 9000000000 0 00009
V9090909 .</span></p> <p class="al"><span lang="UK">------------------—-- </span></p> <p
class="a0"><span lang="UK">0 00000000 0009000900 "000000 906 ¢ 906 1
Q00009009090 99090009 99009009 900090009000 9 90000 0000600" (N46 @
30.01.2013 @)</span></p> <p class="a2"><span lang="UK">0 006 ¢006009."90060069"
N 22 @ 02.02.2013 @</span></p> <p class="a2"><span lang="UK">0 ¥ €600 6609
02.02.2013 @</span></p> <p class="al1"><span lang="UK"> </span></p> <div
style="mso-element: para-border-div; border: none; border-bottom: double windowtext 2.25pt;
padding: Ocm Ocm 1.0pt Ocm;"> <p class="a"><span
lang="UK">0 @00 0€lJe 060 o/span></p> </div> <p class="al"><span lang="UK">
</span></p> <p class="a3"><span lang="UK">000¢, & 0009 0090000 90600000009
©999!</span></p> <p class="al"><span lang="UK"> </span></p> <p class="a1"><span
lang="UK">0 00000 000 9090909 900000909 90000 0090900 9 0000000 000 "000
Q0000900 99 (0000) V00000000 @ 909 <strong>N 1-00€(9@)</strong>. @
Q009009 0000909 90000909 9000 (000 V000000000600N 262/12 ¢ 20.12.2012
9) 9000090909000 9009099 90000090000090-90090 90900000000 9
000000000000000090 90000. 020120 0009 900 0000909 <strong>9 90025
€99 2013 @</strong></span></p> <p class="al"><span lang="UK">000000¢, 66069
999009 .</span></p> <p class="al"><span lang="UK">- ¢ ¢0006o 9609:
zviti@apu.com.ua;</span></p> <p class="al1"><span lang="UK">- ¢ 9000 6009
V00000 000 900090, 0000001,90.14, 0 960 04107.</span></p> <p
class="al"><span lang="UK">0 0000000009, 090900009 000000 90000 906000
Q00909 900009 9909000 V0009090000 90009090. 990 900 90090 90000000 9
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Q0000000000 900000000009: 044-486-28-37, 044-483-82-70.</span></p> <p
class="al1"><span lang="UK">¢ 0@ 9000 0000 9090900, 0000009 900060009
Q000090009 9 VOO N 1-900000000009 9000000000000 0000 90000 00
Q0009 90009 990000009 990000090 99 9000009 990000 9009 .</span></p>
<p class="a1"><span lang="UK">--------------------- </span></p> <p class="a0"><span
lang="UK">0¢ ¢000000 609 9000 "00 60600096 2012 ¢" (¢ 08.01.2013
@)</span></p> <p class="al1"><span lang="UK"> </span></p> <div style="mso-element:
para-border-div; border: none; border-bottom: double windowtext 2.25pt; padding: 0cm Ocm
1.0pt Ocm;"> <p class="a"><span lang="UK">0 @@ 090 9@</span></p> </div> <p
class="a1"><span lang="UK"> </span></p> <p class="a3"><span lang="UK">0 ¢ 060606
QO P G000 P 9000909 909</span></p> <p class="al"><span lang="UK"> </span></p>
<p class="a1"><span lang="UK">0 0000000009 9090000009 9000060009
0000000900009 9 90009, 90000000000 00000

<strong>9 V09999V Y/Strong> VGV 9V & & 00 00 909000 000009
<strong>@@</strong>. 909 22 9009 90090009009 V000009 900 06 000 ¢

[ @00099.</span></p> <p class="al"><span

lang="UK">0 000000000000 00000000000000009 900000000, 0000
0009000000 000000 90090000090 9 9000 9000000009 .</span></p> <p
class="al1"><span lang="UK">-------------------—-- </span></p> <p class="a0"><span
lang="UK">0 000000 00000 90000090909 "0000000 9000000000000
Q0000990 9090009 900000000000 9 90000 6090 (N47-69 04.02.2013
@)</span></p> <p class="a2"><span lang="UK">0¢ €006 €669 04.02.2013
@</span></p> <p class="al"><span lang="UK"> </span></p> <div style="mso-element:
para-border-div; border: none; border-bottom: double windowtext 2.25pt; padding: Ocm Ocm
1.0pt Ocm;"> <p class="a"><span lang="UK">0 @& o[ & & #69¥/span></p> </div> <p
class="a1"><span lang="UK"> </span></p> <p class="a3"><span lang="UK">0 ¢ 0600
Q0099 9 V0909 90900 VV0V9099 90099 909</span></p> <p class="al"><span
lang="UK"> </span></p> <p class="al1"><span lang="UK">0 0000066 ¢ 66006
Q000090009 9000 (0000090 00000 90N 2959 11.04.2012 @) 000009
Q00009000909 9000000000000 90000000000 '900000 90000 00000090 (N
5029-VI € 03.07.2012 @).<span class="a6"></span></span></p> <p class="al"><span
lang="UK">0 0 0@ 9000009, 90900000 00909 9000000000 000 0000000000
G000 99, 9000000 9009 909. 900909<SIIONY>V 09 90009 ¢ 00000
V999</strong>, 000V 0009 900000009, 9009 900000 900000stroNg> 00069
999 </strong><em>(® 909P09P 000P09 900 99009V V0PV 900 9000000
Q000000 909)</em>. 0009000, V00 909 9000009 900000 900-000 009
Q00009000909 900000000009 909 .</span></p> <p class="al"><span
lang="UK">---------------------- </span></p> <p class="a0"><span

lang="UK">0 00000000 00000000 "000009 0000 0600 10 000 6000 ¢
Q00909 000000000 006" (N 87 @ 06.02.2013 @)</span></p> <p class="a2"><span
lang="UK">0 & 0000 0009 000 000900 99009009b</span></p> <p class="al"><span
lang="UK"> </span></p> <div style="mso-element: para-border-div; border: none;
border-bottom: double windowtext 2.25pt; padding: Ocm Ocm 1.0pt Ocm;"> <p class="a"><span
lang="UK">0 @ @06 e®_@&</span></p> </div> <p class="al"><span lang="UK"> </span></p>
<p class="a3"><span lang="UK">0 0000 0000062013 €@</span></p> <p
class="a1"><span lang="UK"> </span></p> <p class="a1"><span lang="UK">¢ ¢0¢ 06069
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Q000090009 9009, V0090000000 9 009 9 V009<eM>(000000600</em>
<strong>@ 992013 ®o</strong> ¢ €0V V0V V0Q 9 ¥6 99 <strong><span
style="text-decoration: underline;">100,2%</span></strong>, ¢ 909 €00 000006 &
<strong><span style="text-decoration: underline;">100,2%.</span></strong></span></p> <p
class="a1"><span lang="UK"> </span></p> <div style="mso-element: para-border-div; border:
none; border-bottom: double windowtext 2.25pt; padding: Ocm Ocm 3.0pt Ocm;"> <p class="a"
style="border: none; mso-border-bottom-alt: double windowtext 2.25pt; padding: Ocm;
mso-padding-alt: 0cm Ocm 3.0pt Ocm;"><span lang="UK">0 ¢ & _¢& 6o é/span></p>
</div> <p class="a1"><span lang="UK"> </span></p> <p class="a3"><span

lang="UK">0 00000000 ¢09000000009000 0000000000000000099/span></p>
<p class="al1"><span lang="UK"> </span></p> <p class="a1"><span lang="UK">¢ 060 6¢
Q000000 9 900900000009 99000 9000000000000
<strong>9 0099V 9 9099 9/strong> (00VP09 9000V 00000, 90000 0060006009
009.°00009 90000000000 90000000 0009 (000 000 N 1900 @ 25.12.2012
@), 000009 9009 909<stION >0 0PV 00000000 0000

9900090000009 .</strong></span></p> <p class="al"><span lang="UK">0 & ¢0o&N 1
9 08.01.2013 @ 09000 9900090000000 0009 9009000006 9:</span></p> <p
class="al1"><span lang="UK">- 000000000009 909009 (009 90 ¢ 900 0000000
Q000 99009009 99000000099 (009 909;</span></p> <p class="al"><span
lang="UK">- 00009 00000 6900009096 (0060 9[).</span></p> <p class="a1"><span
lang="UK">0 00000000 9000900000000009 9000000 90000006 000
V0090000 9 9000900000 90000000 00091002014 090. 0000000000
Q000090009000 000 909000090009 9009 90909 900090000000 90000600 00
Q009 9000 9 900090000 9 900000000090 90000000000 00 090 9090
G000 O 9909000900 900 99 900900 9900009 909 9 V090900 90000000600 9
00,0 90000000 9 900000000 90090000000000009</span></p> <p
class="al"><span lang="UK">0 ¢, ¢90 00000000009 000000000 900 609
Q00009000909 9 990060909 :</span></p> <p class="al"><span lang="UK">-
Q0900009000009 0 9 V0909 909009099 ;</span></p> <p class="al1"><span
lang="UK">- 0000006 9066 #069</span></p> <p class="a1"><span lang="UK">-
9000000009 9/span><span lang="UK">0 000 ¥ 0000000060090 (0006
Q000090000009 ;</span></p> <p class="al1"><span lang="UK">- 0060060006
Q90909 909</span></p> <p class="al"><span lang="UK">- 00000000000 000060 &
99900090009 </span></p> <p class="al1"><span lang="UK">-

Q09000000900 0009</span></p> <p class="al"><span lang="UK">0 00 060é [ ¢
99909 :</span></p> <p class="al"><span lang="UK">- 00 0é 0060000 6009
999;</span></p> <p class="al"><span lang="UK">- 0000 000000 000 o) 600 &
999909 ;</span></p> <p class="al"><span lang="UK">- 00 0é 906 ¢006009

9999 .</span></p> <p class="al"><span lang="UK">0 000 ¢, 6 006(060006 606 o))
9 9000900090900 99 909 .</span></p> <p class="a1"><span

lang="UK">--------------------—- .</span></p> <p class="a0"><span lang="UK">r ¢ €666
Q009 99000009 9 9900000090'00000000 90000

900009000000 0000000000090009 9 9909000900090 900900 9000000 06000
9900000000000" (N1 09.01.2013 @)</span></p> <p class="a2"><span

lang="UK">0 000000 ¢ 00000 60006 €066 22.01.2013 ¢ @ N 171/22703 ¢ €009
V000000 9000909 9000009, 90 900000000000009</span></p> <p
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class="a1"><span lang="UK"> </span></p> <div style="mso-element: para-border-div; border:
none; border-bottom: double windowtext 2.25pt; padding: 0cm Ocm 1.0pt Ocm;"> <p
class="a"><span lang="UK">0 00000 90o 9#6&/span></p> </div> <p class="al"><span
lang="UK"> </span></p> <p class="a3"><span lang="UK">@®/span></p> <p
class="a1"><span lang="UK"> </span></p> <p class="al"><span lang="UK">- ¢0060¢ &
<Strong>9 9999 9/strong>, @ 909 900990 9909 900 9 9000909 900006000
Q0009 90909 <SIIONY>V PV 0OV 00VP09 9000V VO</strONg> @ 00V VGP 0000069
Q0000 9009 9009 9000609 </span><em><span style="color: gray; mso-ansi-language:
UK;" lang="UK">(0 @@ eN 67 & 16.01.2013 @)</span></em><span lang="UK">;</span></p>
<p class="a1"><span lang="UK"> </span></p> <p class="a3"><span

lang="UK">[ @@ @/span></p> <p class="al1"><span lang="UK"> </span></p> <p
class="al1"><span lang="UK">- €960 9® & <strong>96¢ oo é/strong>
Q0000000000000 0009</span><span class="a4"><span lang="UK">(¢o&N 1386 &
20.12.2012 @)</span></span><span lang="UK">;</span></p> <p class="al1"><span
lang="UK">- 0000 0000000000 ¢ 9000901 00000000 900009 9000900 60000000
9000090009000 9099<strONg>0 0PV GY 000V 0</strong> 000006
02°22:2°272°2°2" 28 ife]g[epR 2722 °27 R 227 ((e]ale R R 272722 22272 2272227222722 22
09000090009090009000900090900 90909009 900909090 9090000000000009

@99 </span><span class="a4"><span lang="UK">(@ €N 1272 ¢ 04.12.2012
@)</span></span><span lang="UK">;</span></p> <p class="al"><span lang="UK">
</span></p> <p class="a3"><span lang="UK">0 @@ 909009 o</span></p> <p
class="a1"><span lang="UK"> </span></p> <p class="a1"><span lang="UK">- ¢ 0006069
Q00900009 909009 </span></p> <p class="al"><strong><span lang="UK">N
1-09(9@)</span></strong><span lang="UK"> "¢ 000000 000000000009 0600
</span><span class="a4"><span lang="UK">(¢ o€ N 18/1-12/25 ¢ 30.11.2012
9)</span></span><span lang="UK">;</span></p> <p class="al"><strong><span
lang="UK">N 2-@@</span></strong><span lang="UK"> "0 0 0¥ 000000000006 00069
Q00009 90009069" </span><span class="a4"><span lang="UK">(&¢ o0& N 18/1-12/26 &
30.11.2012 @)</span></span><span lang="UK">;</span></p> <p class="al"><strong><span
lang="UK">N 50-@</span></strong><span lang="UK"> "¢ 00 é 9000000 60006006
QOP0000000000099 </span><span class="a4"><span lang="UK">(0©60e N
18/1-12/27 @ 30.11.2012 @)</span></span><span lang="UK">;</span></p> <p
class="a1"><strong><span lang="UK">N 12-0'9 ¢ & (@ e & </span></strong><span
lang="UK"> "0 0000009 & €06 €'906 </span><span class="a4"><span

lang="UK">(® @@ N 18.1-12/3 ¢ 23.01.2013 @)</span></span><span
lang="UK">;</span></p> <p class="al1"><span lang="UK">- ¢ 0@ 90¢ 906000000069,
</span><span lang="UK">¢ @0 €0 06006006 N 343 ¢ 26.12.95 ¢ "9000000¢
9900009009 9909<strong>N @20</strong> ¢ VP0G VY €O 9669 V" </span><span
class="a4"><span lang="UK">(®€@eN 15 @ 23.01.2013 ®)</span></span><span
lang="UK">;</span></p> <p class="al1"><span lang="UK"> </span></p> <p class="a3"><span
lang="UK">@@/span></p> <p class="al"><span lang="UK"> </span></p> <p
class="al"><span lang="UK">- €996 @ ®#o<strong>90l €06 €096 9/strong> €00 &
G000 990009, 000 900090000000 V000009 9 V0000090009 </span><span
class="a4"><span lang="UK">(@® N 8324/0/61-12/15-3115 @ 31.12.2012
@)</span></span><span lang="UK">;</span></p> <p class="a1"><span lang="UK">- €€,
Q000909 900909 900909009 900909009090009 90090009 90909 <sStrONY>9 0009 009
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Q990999/strong> (00900900000 9), V009 9909 90009 909000000 0009
0900009000000 090009 00909</span><span class="a4"><span lang="UK">(¢& N
16779/10/06-038 @ 19.12.2012 @)</span></span><span lang="UK">;</span></p> <p
class="al"><span lang="UK">- ¢006¢, 6601.01.2014 ¢ ¢000000 9006 9006069
Q0009 900909009 <slrONg>0V V0@ 90O </strong> 00000 006, ¢
0000090009000, 0000 900090009 (0909), 900000000000000009
</span><span class="a4"><span lang="UK">(®@ N 2427/7/22-1317/111 ¢ 31.01.2013
@)</span></span><span lang="UK">;</span></p> <p class="al"><span lang="UK">
</span></p> <p class="a3"><span lang="UK">®@®@/span></p> <p class="al"><span
lang="UK"> </span></p> <p class="al1"><span lang="UK">- €9 0¢ 6000600 60006
<strong>9 90 VY VYV Ve 96 9/strong> </span><span class="a4"><span lang="UK">(¢€ N
29-113/1397-1298 € 04.02.2013 @)</span></span><span lang="UK">;</span></p> <p
class="a1"><span lang="UK">- 000000000006 9069 <strong>000000606066 2012
@</strong> </span><span class="a4"><span lang="UK">(®€ N 12-113/254 ¢ 01.02.2013
@)</span></span><span lang="UK">;</span></p> <p class="a1"><span lang="UK">
</span></p> <p class="a3"><span lang="UK">@®/span></p> <p class="al"><span
lang="UK"> </span></p> <p class="al"><span lang="UK">- @€ </span><strong><span
lang="UK">0 & &6 &6 ¢ 9 o</span></strong><span style="text-transform: uppercase;
mso-ansi-language: UK;" lang="UK"> </span><span lang="UK">¢ @

Q00000000000 000009</span><em><span style="color: gray; mso-ansi-language:
UK;" lang="UK">(©@@eN 1416 @ 12.12.2012 &)</span></em><span lang="UK">;</span><span
lang="UK"></span></p> <p class="al1"><span lang="UK"> </span></p> <p class="a3"><span
lang="UK">[ @@ @</span></p> <p class="al"><span lang="UK"> </span></p> <p
class="al"><span lang="UK">- 9 ®é@</span><span lang="UK">® @& ®<strong>0 06 &
Q009 900909 9009 9/strong> </span><em><span style="color: gray; mso-ansi-language:
UK;" lang="UK">(@®eN 113/5 @ 15.01.2013 @)</span></em><span
lang="UK">;</span><span lang="UK"></span></p> <p class="a1"><span lang="UK">
</span></p> <p class="a3"><span lang="UK">0 000 ® 0009 06009 ¢ 6006069

V990 9</span></p> <p class="al"><span lang="UK"> </span></p> <p class="a1"><span
lang="UK">- 00000000000 900099 <Strong>0 009 9009 960090669 </strong> &
Q00900909 99 9 <SIrONY>V VP VP0P 909V VPVV909HV9H</strong> </span><em><span
style="color: gray; mso-ansi-language: UK;" lang="UK">(©¢ @ 23.01.2013
@)</span></em><span lang="UK">;</span></p> <p class="al"><span lang="UK">
</span></p> <p class="a3"><span lang="UK">0 000 & 9009000906009 b</span></p> <p
class="a1"><span lang="UK"> </span></p> <p class="a1"><span lang="UK">-
0000090009000 9090009090 9090009 9009090009 969 </span><em><span style="color:
gray; mso-ansi-language: UK;" lang="UK">(® €00 ® 9009 000000000 "0000" 00000
Q000090 90909 9 9909000900099 9</span></em><span lang="UK">
<strong>@ 99 @ 9/strong> 92013 0009 0000009 000000000000 000
Q900009000 900090009 909, <stroNg>V 0V VH</strong> 000V 0é 3 000 - @ 906 18
09, 000090 10 000 - 9090 1 909 </span><em><span style="color: gray;
mso-ansi-language: UK;" lang="UK">(©¢ ¢ ®¢60® N 77 ¢ 24.01.2013 @)</span></em><span
lang="UK">;</span></p> <p class="al"><span lang="UK"> </span></p> <p class="a3"><span
lang="UK">[ @9 e € @/span></p> <p class="al1"><span lang="UK"> </span></p> <p
class="a1"><span lang="UK">- 0909 €9 o<strong>000000¢ $09</strong>
Q009000 900009, V000009 99009</span><span class="a4"><span
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lang="UK">(®©@N 53 @ 21.01.2013 @)</span></span><span lang="UK">; </span></p> <p
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